$250h BERzF1—XU12) Hvyh—Kz et

(1 RSHUR) 9,/5(+)
R AT A2 A3 A4
ATL—T Bk TR MEGO 232 S RNHEA
B — Bi B2 B3
T4+ $&EGFC FAIMGFC T 7Y )—XVHEB
It Ci ) C3
EN—F&E IATL—ZE TEMDHALFC
BYHETIIUR A tYHTSIUR B 1 B+
Ad—k Ba—k~ 2 XA+
111000 ~ 10:35) B4t vs MEGO [LVDEA vs (=N 3 EN—FT
2 11045 ~ 11:20|| 4+ vs HMEX |EX—Fz vs FEMLDH 4 MEGO
311130 ~ 1205 B4k vs LVb=EA| MEGO vs BEg 5 ¥
122156 ~ 12:45 Fax 6 TXTL—F
4 11255 ~ 1330 #BX vs WLWHEB|zz7L—5 vs fEHMDH 7 LWhEA
511340 ~ 1415 B4k vs BEg MEGO vs UVbhEA 8 L\hHEB
6 | 1425 ~ 1500 4+ vs WHEB|EN—FT vs zz27L—5 9 FEMDH
7 11510 ~ 1545 #EM vs MEGO [fehDH vs B ([ZoAhABTILUR)—<yF 10 EfFgL&~F
8 | 156565 ~ 1630 #14F vs IxFL—3|EN—Fz vs (\HZEB
(I RSIUREER)
ATIL—7 B MEGO OH=A B RN EEIEIEN N
: 3 - 43 - 3|0 - 1 "
Bt & PR N A N ol2(1]1]6]|8]|2| 4
. 7 - 3 0 - 73 - 6 i
MEGOL 2 o N N 1{2]0|3|7/16]-9| 3
717')—7CL\*>%A3A37(_)O 160201711381
T - 06 - 3]0 - 1
B
BELT 5 o y 1{ole6|7|4|3]| 2
BTIL—T TLF FAM WhEB B[ a2 BEAE[E[=] B
> = 4 - 1 7 - O
H4F1BEGFC o o 2lolof6|11] 1|10 1
T - 4 2 - 1
HMGFC N o 1{1]0]3|3|5(-2] 2
szry—zopzsl O T T 2 ol2|olo|1]9]-8| 3
CoIL—7F EN—Fz [TXTL—7Z] £ BB BEAES[X[=] BN
EA—F i 0 - 20]0 y 8lol2(0|0|0/28]2s| 3
— 20 - 0 5 - 0
IXFL—SHE o o 2l0(0(6]25/ 0|25 1
TbeoﬂLFCSC_)OO_s 1l1lol3]s|5|3]| 2




UBLZRIN—2]  9,/6(H)

Al B C1
14—
fr7n—7 TIT)— RN HEA HA+1EBGFC IRFL—SHE
2R N—"7 A2 52 c2
= ErEAT HAGFC TEMILFC
\ A3 B3 C3 A4
34617 IN—T . ) . .
MEGOZ i JITU—RNHEB | EN—F iz B4b4 TBiR
EYHTSTUR A | £YBSSYUE B
Ad—k Ba—b+
11 930 ~ 1005 A3 v B3 C3 v A4
2 11015 ~ 1050[ A1 vs BT A2 vs B2
31100 ~ 1135| A3 vs A4 B3 v 03
411145 ~ 1220f A1 v cf C2 vs B2
51230 ~ 1305 A3 vs ©3 B3 vs A4
6 1315 ~ 1350| B1 v Cf A2 vs  C2
7 11400 ~ 14:20 e
8 1425 ~ 1500 A1 & C2 & CoADTIL VR —wF
9 | 1510 ~ 1545| A2 vs BT C1 v B2
BRI —2 2 )
T )b — RED AT |TATL-— S| B Bl DA ] =] =] B |
S K EA 1 A 1|2 y Slol1|1|1|3]4]-1]| 3
P T - 1 T - 0
2L+ 1REGFC A o 110111412111 1
T2FL—SHEE | O (‘)20‘1 1l1lo|3]|3]|3]|o]| 2
2607 I —7 B RN 1EMDOH (Bl Al BHA G| £ [
o 0 - 04 - 0
BrF o o 21010 141 0 |14 1
HAWGFC 0 y 10 0 y 8lol2(o0lo|ol18]-8| 3
e 0 - 4|8 - 0
TEMDHLFC % o 1111013181414 2
(3, 4R 7L —F MEGO WH=EB | EN—FT B R EEIEIENEN
- 3 - 1]8 - 0|1 = 2
MEGO&32 1 3 o SOOOXS210612392
Jx7)—RX\hHEB y o % 112(013]9(8]1 3
er—szamn| 0 - 810 -8 0 ~ 8lo|3|o|o]|o]|2a|x| 4
s 2 - 1|5 - 0|8 - 0
[ld S 14
B b4 FER o O O 3[0]0]9]15]1 1
— T REX T
| XA4FEEGFC 5 TEADHLIC
17 FEGFC
_ {51 Bt &k
26 | TRFL—ISHE 8z MEGOZ =
941 TJx7')—X\hHh=EB
= S N— PN
3L 7x7)—XNhHEA 1041 EN—FI&2Jr




